Operaciones con numeros ENTEROS

1.- Calcula.
a)8+7-3-4
22-6-3+5
04-7-13-2-6
25:6-4.-7+2-5

2.- Opera.
a)2-(4+06)
<) 8:(7-5)
e)(5+06) -4
g (19-7):2

3.- Calcula
a)30-4-(5+2)
5-(11-3)+7
e2-(7+5-3-(9-4)
©3.5-3.(10-4.2)

Soluciones:
- 23 b4 o9 43
a3  Ha @12  ho

2.- )20
e) 44

b)15-2-.3-5
d)36-8.4-1
f)5-4+12-6-4
h)8-8-4-6-5-8

b)2-4+6
d)5-7-5
f)5+6:3
h)18-7-2

b)5 +3-(8-0)
d)3-(2+5)-13
£)4.-(7-5)+3-09-7)
h)2.3+5.(13-4.3)

d) 30 3.- a

b) 14 2
h)4 J 9

£)y7

c) 4
gl 6

b) 11 o 47

f)14 g 2

d) &8
W 11





